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Plot [[' EcFgro', 'EcFzExp', 'EcPltng’, 'ECdef’ ]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

—&— ECI
1500 ~

1400 - ._\_./‘\H\‘\—./O—‘\./O—‘\._‘_./.

1300 - ./0

1200 +
rning: col ['ECC’, 'FVIEC'] is missing

1100 -

60 65 70 75 80 85



Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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21| 224.0 (8%) 80.0 EWHKEC: 2351, PH: 6.9

unusual large postFgEt from yesterday (59), set to 30.0 ml.
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